Re-imagining State-Market Relations

Private prison drive
1. The total cost of locking up an offender is around £___________a year.
2. Make a T Chart of the benefits and drawbacks of prison privatization
3. Look at the above chart and describe your position the privatization of prisons.
Can Gordon fix the National Health Service?
4. What is the disagreement between Brown and Blair?

5. What were the results of The Guardian study? What might this mean in terms of policy implementation?

6. In what ways, if at all, does the author answer his/her own question?

Time to Put Auntie Beeb Out to Grass
7. What was Lord Reith’s mission?

8. Respond to the Homer Simpson quote.

9. How did “Tony’s War” in Iraq catalyze the BBC debate?

10. Should the BBC be privatized? Why or why not?

What Are Private-Public Partnerships?

11. Describe Blair’s stance on PPP.

12. Briefly put, what is the good and the evil of PFI?

13. What has PFI done so far?

14. How far could it go?

15. Make a T Chart which assesses the benefits and drawbacks of PPP.

